

17, 175

$y = (a-1)x^2 + x + 3 \rightarrow (\frac{r}{2} - 1)x^2 + x + 3$  (1)

$\frac{-1}{2a-2} = r \rightarrow fa - f = -1$   
 $\frac{fa}{a-2} = r$   
 $a = \frac{r}{r}$

$y = \frac{-1}{2}x^2 + x + 3$   
 $-x^2 + 2x + 6 \rightarrow (x+2)(x-4)$   
 $y = x^2 - 2x - 12$  (5)

$\Delta > 0$  /  $m < 0$  (2) بین  $x_1$  و  $x_2$  مثبت است ← لیب منفی است

$\Delta = 2a - f(m)(m) = 2a - fm^2 > 0$   
 $2a > fm^2$   
 $\frac{2a}{f} > m^2 \rightarrow \frac{a}{f} < m < \frac{a}{f}$  (2)

$\frac{172}{2} = (-\frac{a}{f}, 0)$

$S = \frac{r\sqrt{a} + r\sqrt{a}}{r} = (2)$       $P = \frac{9-a}{9} = \frac{f}{9}$  (3)

$\Rightarrow y = x^2 - 2x + \frac{f}{9} \rightarrow \underline{9x^2 - 18x + f}$  (5)

$2\alpha^2 + 2\beta^2 + \alpha^2 - \beta^2$  (4)

$2(\alpha^2 + \beta^2) + (\alpha - \beta)(\alpha + \beta) = 17$  (5)

$2(19 - 2m - f) + (f)(\frac{\sqrt{9f - 18m - 19}}{2}) = 17 \rightarrow (18 - 2m + \sqrt{9f - 18m - 19}) = 17$

$2\sqrt{9f - 18m} = -19 + 2m \rightarrow 19^2 - 36m = 4a^2 + 8m^2 - 4fm$

$8m^2 - 22m + 9f = 0 \rightarrow m^2 - 11m + 19 = 0 \Rightarrow (m-8)^2 = 0$       $m = 8$

$$\frac{-b}{ca} = r \rightarrow ca = -b$$

9

ax<sup>2</sup> + bx + c

x<sup>2</sup> → ca + 1b + d = 9      -b + 1b + d = 9

b + d = 9 →  $\boxed{b = 8}$

$\boxed{a = -1}$

$$y = (x^2 + (x + 1))$$

5

$$b^2 - 4ac = x^2 - 4x - 0$$

$$(x - 0)(x + 1)$$

$\boxed{x = 0}$     $\boxed{x = -1}$

$$\Rightarrow \underline{\underline{(-1, 0)}}$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{5}{p} = \frac{\alpha + \beta}{\alpha\beta} = \frac{\frac{v}{\alpha}}{\frac{v}{\beta}} = \frac{v}{\beta} = \frac{\alpha + \beta}{\alpha\beta} \rightarrow 9\alpha\beta + 9\beta^2 = v\alpha\beta$$

$$9\beta^2 = -2\alpha\beta$$

9

$$\beta > 0 \rightarrow \alpha < 0 \rightarrow \alpha = -2 \quad \beta = \frac{5}{9} = \frac{5}{9}$$

$$\boxed{9\beta = -2\alpha}$$

5

if  $x = \alpha = \alpha^2 - v\alpha - 2\alpha = \alpha^2 - 9\alpha = \alpha(\alpha - 9)$

$\alpha = \frac{v}{\alpha - 9}$

$$\frac{v}{\alpha} = \frac{v}{\alpha - 9} = \boxed{\frac{v}{9}}$$

$$\alpha^2 = -m\alpha + 1m$$

11

$$-m\alpha + 1m - m\beta = 1 \rightarrow -m(\alpha + \beta) + 1m = 1$$

1, v, 1

$$-m(-m) + 1m = 1$$

$$m^2 + 1m - 1 = 0$$

$$(m + 1)(m - 1) \rightarrow \boxed{m = -1}$$

$$\boxed{m = 1}$$

$$\Delta > 0 \rightarrow x^2 + 1x + 1 = 0 \quad \Delta = 1 - 4(1)(1) \rightarrow \Delta < 0 \quad \times$$

$$x^2 - 1x - 1 \rightarrow \Delta = 1 - 4(1)(-1) \rightarrow \Delta > 0 \quad \checkmark$$

$$S = -m = -1$$

$$\frac{-c}{1m} = 1 \Rightarrow 14m = -c$$

$$\boxed{m = -\frac{1}{14}}$$

$$f(x) = -\frac{1}{14}x^2 + 1x + \frac{1}{14} + v$$

1

$$x^2 - 14x + \frac{1}{7} - 2$$

$$x^2 - 14x - \frac{13}{7} \rightarrow f(x) = x^2 - 14x - 13$$

$$\frac{-\Delta}{4a} = 1 \rightarrow 14m^2 - 14m - 14 = 0$$

$$m = 1, -1$$

$$f(x) = -1x^2 + 1x + 1$$

$$x = -1, \checkmark$$

$$\frac{-b}{r_a} = r \Rightarrow \epsilon a = -b$$

$$a2^r + b2 + c \rightarrow \epsilon a + r b + \epsilon = 9$$
$$-b + r b + \epsilon = 9 \rightarrow b + \epsilon = 9 \rightarrow \boxed{b = r} \\ a = -\frac{1}{r}$$

$$y = -\frac{1}{r} 2^r + r 2 + \epsilon \rightarrow 2^r - \epsilon 2 - 1 \rightarrow \frac{1}{2} + \frac{1}{B} = \frac{5}{P} = \frac{\epsilon}{-1} = \boxed{-\frac{1}{r}}$$

$$\text{if } n = r \rightarrow \epsilon - 1 a - 1 + r a^r + r a + r = 0$$

$$r a^r - r a + 1 = 0 \Rightarrow a^r - r a + r$$
$$(a-r)(a+1)$$
$$(a-1)(ra+1)$$

$$a = 1 \quad 2^r - 1 n + 1 r \rightarrow (n-r)(n-r) = 0 \leq r$$

$$a = \frac{1}{r} \quad n^r - \frac{1}{r} n + \frac{\epsilon}{r} \rightarrow r n^r - 1 n + \epsilon = 0$$

$$n - \frac{r}{r} \rightarrow \underline{\underline{r, r, r, \frac{r}{r}}}$$